Precalc CP Review 4.1-4.3 Answers
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6. x—3x°
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(7-12)Check Graphs on your TI-84

7. Domain: ARN Range:y>-1
8. Domain: ARN Range: y>3
9. Domain: ARN Range:y>-1
10. Domain: X>0 Range: ARN
11.Domain: X>1 Range: ARN
12.Domain: X>0 Range: ARN

13a. $6,381.41
13b. $6,410.19
13c. $6,420.13
14.y=5"
15. Y =Ilog, x
16. x<=
2

17. x<-2o0r x>2
18.l0og, 64 =6

19. In6=2x

20. 2" =1024

21. e’ =x

22. 7 23.
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24. 45

HA: y=-1
HA: y=3
HA: y=-1
VA: x=0
VA: x=1
VA: x=0
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Ya 29. 92 30. 49 31. 100 32. -1 33. -2/3
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2Iogza—4logzb—alogzc 45, 5[Iog3+2|ogr+logs]



